1.

RETFRAN XFA BREOER 02

ROFEZE L. (S5, A1, B#F13308, CH2m208)
(1) (8a+12) =2 (2)  (6a—12) = (=3)
(3)  (16z+2)+2 (4) (202 —8) +4
(5)  (—21z—28) =+ (-7) (6)  (10a — 15) + (—5)
(1) (12z —24) +~ (—6) (8)  (3b—3) = (—6)
(9)  (a—15)=(-10) (10)  (4a —6) = (—-8)
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2.

ROGEEZE L. (S5, A1y, B 15308, CH2m208)

(1) (4a+8)+2

(3) (162 —4) =4

(5)  (=35x+49) = (=7)

(1) (18z —45) + (-9)

9)  (a—25)+(—10)

(2)  (9a —15) + (-3)

(4) (242 —16) = (-8)

(6)  (12a — 18) = (—6)

(8)  (4b—4) = (—6)

(10)  (4a—9) = (—12)
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R#ETFAN XF BREOEMR

02 MRERESR

ROFEZE L. (S5, A1, B#F13308, CH2m208)

p; L —A E
* HEEA (A+B)+C = S+ 5

(YDOHD B+C D B & C EFHFIEIA A=,

(1) (8a+12) =2

=4a + 6

(3)  (16z+2)+2

=8x+1

(5)  (—21z—28) = (=7)

=3x+4

(1) (122 — 24) = (—6)

=—2z+4

WELLTH KW,

(2)  (6a—12) = (=3)

=—2a+4

(4) (202 —8)+4

=5x — 2

WELLHTH K.

(10)  (4a —6) = (—8)

a 3
N 2+4

WELLTH K.
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2.

ROGEEZE L. (S5, A1y, B 15308, CH2m208)

(1) (4a+8)+2

=7a+4

(3) (162 —4) =4

=4x —1

(5)  (—35z +49) = (=7)

=85x—7

(1) (182 —45) = (—9)

=—-2x+5

WELLHTH K.

(2)  (9a —15) + (-3)

=—3a+5

(4) (242 —16) = (—8)

=—-3x+ 2

6)  (12a — 18) = (—6)

=—2a+3

(8)  (4b—4) = (-6)

N

2
:——b —
3 +

(10)  (4a—9) = (-12)

WELLTH K.
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